Keep Talking and Nobody Explodes Mod

On the Subject of Cryptic Password

Why do you need to encrypt your password? It’s not PASSWORD, is it?

. On this module, there are two words displayed: the starting

word on the top and the key word on the bottom.

. For each letter of the starting word, find the encrypted

letter using the cipher provided and the key word’s letter at
the corresponding index. The starting word’s letter is used

Cryptic Password

ABCDEF O
ABCDEF
(4] () [a] [a] (4] [4]

MM ~MMDYD

for the columns and the key word’s letter is used for the rows. If the key word is
" smaller than the starting word, wrap to the first letter and continue as necessary.
. Once you have all the correct encrypted word displayed, submit for completion.
. If the first letter of the starting word is a vowel, reverse the key word; if the last
letter of the starting word is a vowel, swap the rows and columns of the table.
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